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) SYERHh O TiR(ZkEE T 5L i SMERH A
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&5 X 4 i‘c‘; Tﬁﬁ“ﬁh\(‘z)@ﬁﬁ}ﬁﬁ jj(giff)é X 4 ﬁﬁﬁgﬁfﬁfw i&; jj(lfifn?)é X 4 ﬁq‘c‘; J:ﬁn“ﬁ;ﬁ\(‘z)(btt‘r%' jj(giff)é X 4 J:ﬁﬁ;ﬁ\(‘z)(btt?%' i&; jj(gr?frf)é
P 100kN/mM%#BZ. 5 — - ~ — —|3mZEEBZB| — ~ — — — | 100kN/mi%#B 2% — - ~ — —|3mEx#EZSB - ~ — — —
FhLst 1.00 | 0.00 ~ 4.52 56.40 | =nLs | 0.oo ~ 000\ 1.567 7.91 st 1.00 | 6.00 ~ 5.00 56.40 | =nst | 5,00 ~ 56.00)| 1.57 7.91
2 100kN/ Mm% 25 - - ~ — —|[3mZEERH| — ~ — — — | 100kN/ Mm%z 5 - - ~ — —|3m%E#BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 5.07 63.20 | st | 000 ~ 507| 1.83 927 st 1.00 | 6.00 ~ 5563 63.20 | NS | 6.00 ~ 663 1.83 927
3 100kN/ Mm% 25 - - ~ — —|[3mZEERBH| — ~ — — — | 100kN/ Mm%z 5 - - ~ — —|3m%E#BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 7.58 97.08 | =nst | 0oo ~ 758 1.93 9.76 st 1.00 | 6.00 ~ 1191 97.08 | =nst | 5,00 ~ 1191)] 1.93 9.76
4 100kN/m%&#8z25 | 1.00 | 000 ~ 225| 13508 |3mZz#z3| — ~ — — —| 100kN/miZ#825 | .00 | 1082 ~ 2200 135.08 |3m&E#z2 % - ~ — — —
s 1.00 | 225 ~ 1004 100.00 | F=nLSy | 0.00 ~ 1004| 2.57 12.99 ThList 1.00 | 5.00 ~ 1082 100.00 | =nhst | 6,00 ~ 2200 267 12.99
5 100kN/m%E#8z5 | 1.00 | 000 ~ 285| 145.07 |3mZz#Bz23| — ~ — — —| 100kN/miZ#825% | .00 | 1063 ~ 2383 14507 |3mE#z 3 - ~ — — —
s 1.00 | 285 ~ 1063 100.00 | #hLs | 000 ~ 1063 2.80 14156 s 1.00 | 5.00 ~ 1063 100.00 | =nhst | 6.00 ~ 2383 2.80 14.15
P 100kN/m%E#8z5 | 1.00 | 000 ~ 2.75| 14336 |3mZz#Bz23| — ~ — — —| 100kN/mi%#825 | .00 | 1084 ~ 2309| 143.36 |3mE#z2% - ~ — — —
FhLst 1.00 | 275 ~ 1083 100.00| FnLS | 0.00 ~ 1053 2.87 14.51 FhLst 1.00 | 6.00 ~ 1084| 100.00 | FnLS | 6.00 ~ 23.09| 2.87 14.51
7 100kN/m%E#B25 | 1.00| 000 ~ 272\ 14287 |3mZz#Bz25| — ~ — — —| 100kN/m%#825 | .00 | 10564 ~ 2383 14287 |3mx#Bzi% - ~ — — —
FhLst 1.00 | 272 ~ 10| 100.00| NS | 0.00 ~ 1060| 2.68 13.563 zhLst 1.00 | 6.00 ~ 1054 100.00| FnLS | 6.00 ~ 2383| 2.68 13.63
P 100kN/m%E#25 | 1.00| 000 ~ 1.96| 13025 |3mZEBZB| — ~ — — —| 100kN/m%#825 | .00 | 1091 ~ 1995 130.25 |3mE#Bz2% - ~ — — —
FhLst 1.00 | 1.96 ~ 9.74 100.00 | #hst | 000 ~ 9.74| 2.24 11.52 FhLst 1.00 | 6.00 ~ 1091 100.00 | #hsy | 6.00 ~ 1995 2.24 11.32
9 100kN/m%z#25| 1.00| 000 ~ 200| 13098 |3mx#Bz5| — ~ — — —| 100kN/miZ#825 | .00 | 1055 ~ 1836 130.98 |3mE#z 3 - ~ — — —
s 1.00 | 200 ~ 9.79 100.00 | #nLst | 0o0 ~ 979 234 11.83 ThList 1.00 | 5.00 ~ 1055 100.00 | =nst | 6.00 ~ 1836 2.34 11.83
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEEZ D ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEEZ D ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




